3M007 Pupil Tasks Plan

Master 1, 10 and 100 More

Fluency 1 Fluency 2

Complete the stem sentences. Complete the stem sentences.

1 more than 572 is 10 more than is

10 more than 572 is

100 more than 572 is
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100 more than is

1 more than 806 is

10 more than 806 is

100 more than 806 is
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Complete the stem sentences. Write the missing numbers. Complete the stem sentences. %
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274 is 10 more than a3
1 more than 769 is 10 more °
431 705 is 1 more than
100s 10s 1s 137 is 100 more than ___
3 8 1 100 more
100 more than 381is 756
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